g WMaths Knowledae Oraaviser Topic &: Tnedualities

wWhat must T be able to do?

Key vocabulary

You may veed +o revise +he following:

o VMear D Topic & Negative Nuwmbers 2.

Tvedquality

New content:
[0 Show awnd read inequalities o
Sparx M234
[ Solve linear inequalities
Sparx W19, M732

n a wumber line.

Av ineduality compares +wo wumbers or aloelraic
expressions, showing if one is greater thav, greater
than or equal to, less +han, or less than or equal to
another value.

Tuclusive

Tucluding the last number

Exclusive

Not including the last vumber

Satisfy

To fulfill +he reduirements, or wmeet the conditions of
somethivg,

Represeuting Tnequalities

' range of possible values e.g. x
e Auewmpty circle represents eithe

ra<or s (the value is not included)

o Afilled in circle represents either a < or > (the value is included)

o The key points of the inedquality are represented by circles on the wumber line. We usually use a letter to represent the

e The direction of the line/arrow decides whether it is less than or greater +haw
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Xx>2  xis greater than 2 Xx<5  xisless tha 5
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i 0 1 2 3 4 5 6 7 8 O 1 2 3 4 B 6 7 8
x=32  xisgreater than or equal o 3 X<G xis less thaw or equal +o G
O O If x is between two values we can nse 2 circles.
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0 1 2 3 48 6 7 8 1<x<6 X is greater than 1 but less than or equal to G

Solving Tunegualities

direction of the inequality chavges.

Method 1

e.0). “2y+2 > 9
+%\4(

2 > &+ 3y
,%
+%{

- > 2y

/ equivalent (the same)
- 2 S \,l

Avoid dividing by the

+2y vegative by doing the
inverse of the -3y first

and turv it into + 3y
> o

These two auswers are

Solving an nedquality is aenerally the same method and steps as solving any other equation. The main difference is the
equals siom has been replaced by an inequality siom.

The ove difference in the method is if at any point there is a veed +o multiply or divide by a negative vamber then the

Method 2
2y+2 > 9
-2 { -2
-2y > @
< —%{ +-3
Y < -2

-

As there is a division by a
negative the inequality
sign has changed direction
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